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Ex 1. A large class has a test average of 72 with a SD of 8. Take a random sample
of n tests. Find the probability that the average of the n tests is more than 75 if:
a) n =30

b) n = 80
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Ex 2. Checked baggage has a mean mass of 21 kg with a SD of 4 kg. If 40 bags are

randomly selected, find the probability that their average mass is:
a) between 20 and 23 kg

b) less than 20 kg or more than 22kg
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Ex 3. Checked baggage has a mean mass of 21 kg with a SD of 4 kg. Find the

probability that the total mass of 50 random bags is greater than 1130 kg.
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